Unit 2 Review Name k e y

Simplify each expression. Write the solution in standard form.

(1) (7i+3) = (7i-14)

P

|1+

(2) (=30 +2)(2+30D)
Ui -ai*vei t4 = 4+9:[13]

(3) (=2 +5—8i)+ (=3i—20)

3 -B4 +-54 [3 154;
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(4) (2454 — 6i)
81241204 ~304% = [3

(5) == i) - -304+30d"

61

toi) 3l
(7+zl th) _ 21 thet2patiu®
;%*%{E 25

Answer each question.

(7) Ifw = —6i?3, what does w simplify to?

W (-4) - G

(8) Solve 3x? — 11x = —10 and write your answer in interval notation.

IX*-Nx+10=0 X AIWAYS have A pnumber (ine!
3X* -x-5%110z O
| . \3 S f / R 4 /
2% (X-2) = 5(X-0 20

| meom.)
(x-2)(3%X-5120
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Find all solutions to the equation. (Complex numbers are allowed)

2 - .f xm N
9 L=sx-17 X7 =10%° 3% %=1017100-43Y)

wr=1o0x+t34=0 2 -
=10 t1-3b :E_Tij/w

Z

(10) 3x% + 10 = 4x e
IE-yx 110 O x=utf-4(3)00) _ wifioy |

W

(11) 2x%2+12=0 Xl_,.bwo

[x=*ifw |
(12)In a student’s science fair pI‘O]eCt, he claims that the height h in feet above the ground of

an object shot from a catapult can be modeled by h(t) = 16t — 3t + 32, where t is the
time in seconds after the object is shot. What are the zeros of this function? Explain why

the values of the zeros indicate that the student’s model is inqgg_@//}
t=33{q-4Gn) = 2342032 |2 ii&ﬁj
32

32 22
Connot be +yue since the abje ¢t

dooin ‘+ {Gﬁ -f‘h(} @Wiﬁd
(13)Let k(x) = 4x% — 24x + 35.

a) Rewrite the function into vertex form.

~35+3bV =y x*-2ux + 3l
=4 (X* Xt 1)

" | =4 (X-3)°
[k =4 (x-2* -1 |

b) Describe the transformations fron the” \
parent function. BT e B R B A ‘j:

vertfiadl Mredon by 4
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c) State the vertex and axis of symmetry.

H:"D XT"%

d) What is the domain and the range?
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(14) A) The line y = 8x — 24 intersects the parabola y = 2x% — 12x + 26 at exactly one
point. Find the coordinates of this point algebraically.

BX -2t = 2% 7-12X12 0

0= 2x%-20% +50 Y=8(5) - 24710
0°2(x-5)" e
(X-5) 75,}10”
X=5

B) The line y = 5.8x + 11 intersects the parabolay = 2x% — 12x + 26 twice. Find the
coordinates of each intersection point using the graphing calculator. Round to the
nearest thousandths. WINDOW: [-5,20] by [-5,70]

(942, 10:96%) ool (7:958, 57.153)

(15) You are trying to dunk a basketball. You need to jump 2.5 feet in the air in order to dunk.
Suppose you jump from the ground with an initial velocity of 9ft/sec.
a) Write a function h(t} that models this situation.

hit) =-lbt* +9¢

b) Using the graphing calculator, what is the maximum height your feet will be above
the ground? Round to the nearest thousandth. WINDOW: [-5,5] by [-5,5]

e 200 foot

c) Will you be able to dunk the ball? Justify your answer.
NG, (INCE 2.5 0 higher than +re maximyim
MM p hu.ciw-r of 1-26b 1

(16) Rlchard knows that the points (—2,-9), (—1,0), and (1, —12) lie on the same parabola.
Find the equation of this quadratic function in standard form.

“9=4a-2b +C

= ()wio *C
,S:awrb*‘é‘ | D:hgxzmww‘l




